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Perundurai R.S.
PH: 9486379461, 8344933377

rglfl allerrgsrsr — 1 / Model Question Paper - 1
CusvBlensy @) rssare min 2}, 6357 ()
HIGHER SECONDARY - SECOND YEAR
PART - |l
sewflaf o plailws / COMPUTER SCIENCE
(U0 wHmib ok sugfl / Tamil and English Version)
(New Syllabus)

[sTev gyemey: 2.30 wemnf Gmrip)
[Time Allowed: 2.30 Hours] [Maximum Marks: 70]
IPleyenraser. (1) M SH lleTTdHSEHD Flwmrasc) uglaursl o srenTg sTeTLISMeTS
Fhluriggis O smererayi. FFUUGalled  @Gemmullmii e, MM
& 6951 & T 6w LI LI 6T if] 1D 2 LeTquresd Ggflalsseain.
(2) Bowb  gsvevgy SHUY  owullewer  wi HGuw 6T(LPSIUSHM & 1LD,
ﬂ@i@ﬁnq@mgm@m LweTuh S CeusnT(HID. LIL BissiT SUEM T 6USHM (3
ClusiTFsL LIweHTLIH 556D,

Instructions: (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor iImmediately.

(2) Use Blue or Black ink to write and underline and pencil to draw
diagrams.

ugsl — |/ PART - |
SoI0y: ()  Swarsg allerrssend s aflewL_weflsseyLb. 15x1=15
()  Oar@ésiuc_Bster  wrhy  afepsefe Bsab  ehysvLw
alewLewws CsiH0sHz56 GMuTl HL st allenL_ulenaruo Caigg)
STLRSYLD.
Note: ()  All questions are compulsory.

()  Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.

i SHTMITSHTERT HeW1PS551506HT6iTEHD QFwHem D) aUHTWIM)SHSH60

() Pure Qswmnsesm () Impure QFwmhHanm)

(®) sraTrewT QaFwmnaen m) (%) perenarssTCar YemYd @ CFwmnam
A function definition which call itself:

(A) Pure function (B) Impure function

(C) Normal function (D) Recursive function
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ADT steitigsir allfleurdasin:
() Abstract Data Tuple (=) All Data Template
(@) Abstract Data Type (=) All Data Type

Expansion of ADT:
(A) Abstract Data Tuple (B) All Data Template
(C) Abstract Data Type (D) All Data Type

wHEIMTH GClFWMHInm sueTweNMW SHeTeylsT GClsTanTL o, Gleust GlFwmam nlgyisr
QMallsEsliu®min wrm):

(9)) 2_siremew o (24) pseralw (@) YywLssiiul L () o_sreafllenenths

A variable which is declared inside a function which contains another function
definition:

(A) Local (B) Global (C) Enclosed (D) Built-in

G suflewsFwrsssgler Wssd Anhbs Bleweoullsy HyHer Chr F&bHe0SHeTemL

(1) © (n) (<4) 8 (n log n) (@) 6 (n2) (/) 8 (n(log n) 2)
Time complexity of bubble sort in best case is
(A) 8 (n) (B) 6 (n log n) (C) 8 (n2) (D) 8 (n(log n) 2)

sThg GlFwm@n Ul G Fwmn@n) starmb Hewssliub S ng?

(o) sromsenfls () e payploow  (3) 50555 () w0 /S0
Which operator is also called as Comparative operator?
(A) Arithmetic (B) Relational (C) Logical (D) Assignment

UlesTeu(mLo ewmuiggmest bloedleir Gleueafuf(h sreresr?
foriin range(1,10,2):
print(i, end="")
(2)13579 (24) 12468 (3)246810 (#) 135710
What will be the output of the following python code?
foriin range(1,10,2):
print(i, end="")
(A)13579 (B)12468 (C)246810 (D)135710

6ThS CFWDIn M HITTWSSH ClFWNHIn M 6THTM H®YPSHSLILBHSIMSI?

(o) somioLm (®4) seTemestd s TCer

(@) QFwmammi () suemTwenm

Which function is called anonymous function?

(A) Lambda (B) Recursion (C) Function (D) define
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10.

s I

12.

13.

14.

Ulssteumeussteummiein 618 glewrL_m(BHib GFwm@m (slicing operator)?
(=) {} (24) [] (@) <> () ()

Which of the following is the slicing operator?

(A){} (B) [] (C) <> (D) ()

List=[17,23,41,10] eresflsv, List.append(32)sir Gsuafluf () sresreur?

(=) [32,17,23,41,10] () [17,23,41,10,32]
(@) [10,17,23,32,41] () [41,32,23,17,10]
If List=[17,23,41,10] then List.append(32) will result

(A) [32,17,23,41,10] (B) [17,23,41,10,32]
(C) [10,17,23,32,41] (D) [41,32,23,17,10]

Ulereumib 615 suflpewm flilwurs vweTu®SSLIUB S MG ?
() —init__() (9p) _dest_() (@) __rem_() () _del__()
Which of the following method is used as destructor?

(A) _init__() (B) _dest_ () (C) _rem__() (D) _del__()

$716Y L LsuswentuilsL, spp Glp(Heuflews @)susurm HewyssliuBSns):

(o) usvTysam I Q) 2 Deyseir (@) ugley (%) srey
A column in database table is known as an:
(A) Attribute (B) Relation (C) Tuple (D) Data

CuTBpsT PeTewnd CoHiHES M0

(<29) Commit () Roll back (®) Save point (=) Revoke
Pick odd one:
(A) Commit (B) Roll back (C) Save point (D) Revoke

Uletaumeussreupmisit 6T Sreoysemer, yhagarfiuile) @)emenrd@io  Glummenen

D _ (6T (& LD

() listreader( ) (=) reader( ) (@) tuplereader() (=) DicReader( )
Which of the following creates an object which maps data to a dictionary?

(A) listreader( ) (B) reader( ) (C) tuplereader() (D) DicReader( )

Ulereumeuaareummienr e1hs FImiy wryl, sreremweurs @k Garidlsst Guweny
CFLld @17
() _name__ (=) __init__ (@) _del__ () __def__
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15.

Which of the following is the special variable which by default stores the name of
the file?
(A) __name__ (B) __init__ (C) _del__ (D) __def_

LSHHTsD, @ Fev BlreL suflsemer CHETHTGL. alleNSBL LIL BIGENET 2_(HEUT %L
LwesTu® b rusowrsr rey ST FuBSHGIh LweTum(h):

() Matplotlib (=) Infographics

(@) Data visualization (/%) PIP

The most popular data visualization library which allows creating charts in few lines
of code in Python.

(A) Matplotlib (B) Infographics (C) Data visualization (D) pip

ugg — Il / PART -

gGsee @ alarrssens@ el weflés.  allorr  sTer  245@%  SLLTWLWOTS
allem_weflHHeaLb. 6x2=12
Answer any six questions. Question No. 24 is compulsory.

16.

17.

18.

19.

20.

21.

22.

23.

&|6M6WT BT 6V 6TEH M6V 6T6IT6IT 7

What is Subroutine?

UGS Te60 FAMLIYF CFTHHET 6TEHTLIT WITEMeu?

What are keywords in Python?

LSS TV LIWETT euenTwmIdh @ CFwmam MISENET 2_(H6UTSH&HSDHTET HL_L_H6N
D|EMLOLIENLI 6T(LHGI5.

Write the syntax of creating User Defined Function in Python.

SQLite sresrmmev sreiTERT?

What is SQLite?

swuggrestiev Dictionary o meurs@&Heugsnasresr S L_emem HeHLOLIEHLI 6T(LHFHIS%.
Write the syntax of creating dictionary in Python.

sMLIGS T6af16V (3)63Td (L 6TEITMT6V 6TEHTEVT 7
What is class in Python?

s7@semd mrer@ DDL s L_swensener Ll 1gwedl(hs.
List any four DDL commands.

(=) SWIG (=) MINGW - allflsurssgemns 6110515.
Write the expansion of (a) SWIG (b) MinGW
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24. esreumib swugsrer Blredlsir Qsusfluf(® srsirsor?
Str1 = "Madurai”
print(Str1*3)
What will be the output of the following Python code?
Str1 = “Madurai”
print(Str1*3)
uggl — Il / PART -l
gCGsmd KM alleTTEsensE aloLwellss. allorr ey 3353 sSLLTWwTSs
aflew L wefl&sayb. 6x3=18
Answer any six questions. Question No. 33 is compulsory.
25. gemiss sL_QUuUT®H sTED @& CoHweuliuB S s ?
Why access control is required?
26. ewussrefer wow QFwuHEGPamw B SHHSTL (HL6T aisur.
Explain ternary operator in Python with an example.
27.  ewussmeir for wiL_s&e range( ) GFwmham Pler umiseaflliy sterer?
What is the role of range( ) in for loop of Python?
28. Qa&r@®ésLul_(DeTeTenalsEhd @ FmIGDIlLY TSI,
() capitalize( ) (24,) swapcase( )
Write a short note about the following.
(a) capitalize( ) (b) swapcase( )
29. sreys sTLAUBSS606T TCHEULD CLPSTDI LIWSTSENET 6T(LHI%.
Write any three uses of data visualization
30. @erd@ g 2 DILLSET STETUST WTeal? HjeuDenD sTaIaITD) suenTwmIumis?
What are class members? How do you define it?
31. SQLsir Delete, Truncate wmmio Drop s Lsnerssmen UUI0HS.
Compare Delete, Truncate and Drop in SQL.
32.  ewugsredsr open() Qewhamm upP GOIUY TLUSHIS.
Write a note on open( ) function of Python
33. Ulsreumld HUSSTET BIreUSSTaT G WsHs )L L UM STLSIS.
Marks=[10, 20, 30, 40, 50]

i=0

sum=0

while i < 4:
sum+=Marks[i]
i+=1

Write execution table for the following Python code.
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Marks=[10, 20, 30, 40, 50]

1=0
sum =0
while i < 4:
sum+=Marksi]
1+=1
uggl — IV / PART - IV
QMGG AllTTHSEHE S allewL_welldbHEeaLb. O9x5=25

Answer all the questions.
34. LEGB ailglamer 5353 sT(hS35155TL_HL6T allars@s.
(Dysvs0g1)
suflenswsnm GxL_0 LD aflerd@s.
Explain LEGB rule with example
(OR)
Discuss about Linear Search Algorithm

35. ewusgzsreflsr usVBeaum GFwnnsener upHy allerd@s.
(D)svsv51)
MUISSTeuTT HTeush g Hmusemer (Jump statements) allfleurs allord@s.
Explain the different operators in Python
(OR)
Explain briefly about Jump statements in Python

36. ewugsreflsv 2 sirer set QrwhHur®semer $@&bS sTHSSIHSETL(HSEHL T allerd@s.
(D)svev51)
Ulesteumid emugsmesr Blredlsst Cleuetuf(® sredrevr?
class Sample:
num=0
def __init__(self, var):
Sample.num+=1
self.var=var
print("The object value is =", var)
print("The count of object created =", Sample.num)
S1=Sample(15)
S2=Sample(35)
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37.

38.

S3=Sample(45)
Explain the set operations supported by Python with suitable example
(OR)
Find the output of the following Python code
class Sample:
num=0
def __init__(self, var):
Sample.num+=1
self.var=var
print("The object value is =", var)
print("The count of object created =", Sample.num)
S1=Sample(15)
S2=Sample(35)
S3=Sample(45)

STYS5SHNMBHS560 LIweTLHILD 2 M6y Klemevmsealsdr susnsBemen allend @Ha.
(9fs0605))
sreysbgem 1CL s Lswensemen &&bH5 sTHHHIHSHTL (HL_65T allemd @s.
Explain the types of relationships used in a database.
(OR)
Explain about the TCL commands with suitable examples

fetchmany( ) uwweru®ss  dereumd 9L susmewrullgsiter  Heme

ugleysemeruyid Hlewmruiled HTL_(Hb ewLISHTET BHITeweL 6T(LHSHIS.

Reg No Name Marks
3001 Chithirai 353
3002 Vaigasi 411
3003 Aani 374
3004 Aadi 289
3005 Aavani 507
3006 Purattasi 521
(Dfsvv 1)
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£3y DHTEHSLIULDTOT QUL L UDTUL MG UHTUSDSTE DL HHT 6

SPETEN M T (LPSHIS.

Write a Python code to display all the records of the following table

fetchmany( ).

Reg No Name Marks
3001 Chithirai 353
3002 Vaigasi 411
3003 Aani 374
3004 Aadi 289
3005 Aavani 507
3006 Purattasi 521

(OR)
Write a Python Script to display the following Pie chart
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wrglfl aflerrggrsr — 2 / Model Question Paper - 2
Gusvplensy @) renTL_mib oy
HIGHER SECONDARY - SECOND YEAR

PART - lli
sentlesf] gy mlaflwsy / COMPUTER SCIENCE

(B wHmib gy ridlsw aufl / Tamil and English Version)

(New Syllabus)

[0 9jemey: 2.30 wenfl Grrin]
[Time Allowed: 2.30 Hours] [Maximum Marks: 70]

9 Pleyenrser: (1)

(2)

Instructions: (1)

(2)

ey (i)

Note:

(i)

(1)
(ii)

WG allerrésseno Flursl udaurd o sdreTrs eTTUSMTE
FUTTSSS GosTeneray. HFHl1uLalsv Gpullmldlsr, yemms

SEMBTeRIILTOTTIL 1D 2_L_eTiqwrss Ogfallsseayib.

b Hevevg  smpUy  evwullwer  wi HGu 6T(LPSIUSD G LD,
9450 HTIE RSN GHL LweaTUBSS BeusHTHID. UL BIS6T SUEMTEUSM (&
ClussT#lsL LwesTLB SSaLb.

Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

Use Blue or Black ink to write and underline and pencil to draw
diagrams.

uags — |/ PART - |
QWSS TS 61hd G aflenLweflsseaLb. 15x1=15

Car@ssiulBster  wrpmy  alloLsaflls) sy T MHLe» LWl
allowLwws CsihosBHS5s15 @HUUT B st aflen_uileweruyo Caigg)
ST(LRSH & LD.

All questions are compulsory.

Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.

P ClFwhHIn DI ue»TWDICIND 2 _siter Ty @)susurm) S EINEEININICE I EN]
(<91) suewemt Blrsvssr (Subroutines) (<94) QFwmham m (Function)

(3)) suswrwenm (Definition) (%) GFwesmydsser (Parameters)
The variables in a function definition are called as
(A) Subroutines (B) Function

(C) Definition

(D) Parameters

GREEN GARDEN MATRIC. HR. SEC. SCHOOL
Perundurai R.S.
216 PH: 9486379461, 8344933377


https://www.padasalai.net/
USER
Typewriter
GREEN GARDEN MATRIC. HR. SEC. SCHOOL

                      Perundurai R.S.

         PH: 9486379461, 8344933377

USER
Typewriter
GREEN GARDEN MATRIC. HR. SEC. SCHOOL

                      Perundurai R.S.

         PH: 9486379461, 8344933377


o Heuswwly P WILL TS STe| suens 3)eueuTn) SOYSSILBSIDS!.
(o) 2_seflemsmthg srallern (Built in datatype)

(@) smalssiul L srallearo (Derived datatype)

(@) Blswsvwrer sraisrio (Concrete datatype)

() wewm sraiern (Abstract datatype)

The data type whose representation is unknown is called.

(A) Built in datatype (B) Derived datatype
(C) Concrete datatype (D) Abstract datatype

Uereumeussreupmiet 616 Blreords Guriflulle wrhleEpsSLo, G T (15 61T & (675 &5 (& LD
@ ementiismu (Map) shu@ss vweTubSDSI-

(=) : () = (@) = () ==

Which of the following is used in programming languages to map the variable
and object?

(1) - () := (@) = (D) ==
QaTHSSLUL L m Hbseme TUUSHSTT U LILGWTET E1F W) (Pen DS 6T
() Blrsv (Program) (o) Gureds@rysnm (Pseudo Code)
(@) umiieys uio (Flow chart) (@) @swsvepemm (Algorithm)
Step by step procedure for solving a given problem:
(A) Program (B) Pseudo Code
(C) Flowchart (D) Algorithm
Nereu(mid @M pewmullsy, Xeir iy eTeiTewr ?

A B=10,3

X =Aif (A/B==3) else B

print(X)
(<) 3 (=) 10 (@) True (=) False
What will be the value of X from the following code snippet?

A B=10,3

X = A if (A/B==3) else B

print(X)
(A) 3 (B) 10 (C) True (D) False

QaTHSSLILL L enausshe 613 553560 (JUMP) s phmy HjsVe?
() for (<) goto (@) continue (%) break

Which is not a jump statement?
(A) for (B) goto (C) continue (D) break
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0.

11.

1Z.

dlsiteupio fAmiy Pl @sefsd sra oD Hem CF W) HLSSMET UDTIWM)SHSL]
LwesTL (RS M) ?

(=) & (<) $ (@) " () #

Which of the following special character is used to define variable length
arguments?

(A) & (B) (C)* (D) #

apsTmmid jemym (Stride) sreiruigy sresrenr?

(9)) 1T TRb QFwHur’ 1yt s G s iy

(=4) suevTL_T (i CEwmumriger g0 9|6 L| (6 T (& LD

(@) sisr_mrBid Qewmurd iger @) e mio 9| SITLY (& T (& LD
(/) gueiTL_r®ib QFwHum g6 eypssTmTiD 9| 6T L) (TH6U T (& LD
What is stride?

(A) index value of slice operation

(B) first argument of slice operation
(C) second argument of slice operation

(D) third argument of slice operation

setA=(3,6,9}, setB=({1,3,9} sraaflsv, print(setAlsetB) sreirp @Wlipenmullsir Geusiul @

STGBT6NT 7

(=) {3,6,9,1,3,9} (=) {39} (@) {1} () {1,3,6,9}

Let setA=(3,6,9}, setB={1,3,9}. What will be the result of the following snippet?
print(setA|setB)

(A) {3,6,9,1,3,9} (B) {3,9} (C) {1} (D) {1,3,6,9)

LilsdTeumeuaamsupmisit s1g private @)esa@ag wrm)?

() __num (=) ##num (®) $$num (/) &&Nnum

Which of the following is the private class variable?

(A) __num (B) ##num (C) $$num (D) &&num

dlssreumib 61685 GpIuf® SELECT an mrflsd Lweirui®#ma;?

() O (<) I (@) X () Q

What symbol is used for SELECT statement?

(A) o (B) N (C) X (D) Q

ClurmbeT pesrewm B0 ®H

(o) INSERT (=) DELETE (@) UPDATE (#) TRANCATE

Pick odd one:

(A) INSERT (B) DELETE (D) UPDATE (D) TRANCATE
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13. e160ewev Gariiileir B4

() exl (=24) Xls (@) cel (+) Ecl
The file extension of Excel:
(A) exl (B) xls (C) cel (D) Ecl
14.  s1hs auflpedD H(H UL UNETUIRIGTAT ST 6HW 6N SQL s tsweruiled eypsvii GLm
LweTuBH S M7
(=) get (=2y,) select (@) execute (=) Query
Which method uses the SQL command to get all the data from the table?
(A) get (B) select (C) execute (D) Query
15.  Matplotlibsv sur_L_aflsméasiiu_io (pie chart) susnreugnaH e @ FwmHFn Ml
() pit.bar( ) (25) pie.plt( ) (@) bar.plt() (/) pit.pie( )
The function to make a pie chart with Matplotlib:
(A) plt.bar( ) (B) pie.plt( ) (C) bar.plit( ) (D) plt.pie( )
ugg — Il / PART - I
gGsmin Hp laTESEREE el wellss. afleorm  etevr 244 SLLTUIWTS
aflewL_wefldsa)Lb. 6x2=12

Answer any six questions. Question No. 24 is compulsory.
16. 968 wHnpib Qs Taer Gaumiu®H5%.

Differentiate constructors and selectors.

17. s GOurl(® e»wiLy eIenTwmn)

Define control structure.

18. T T GFWwMHan Pl6dT LILIEHT 6T6IT6ER ?

What is the use of lambda function?

19.  ewushzrer 2 iy QFwmHSDIsHen wiremeu?

What are membership operators in Python?

20. Matplotlib stsirprsv sTsirenr?

What is Matplotlib?

21.  oufliniluilest Lwebr sTebTeRT?

What IS the purpose Gf Destructor? GREEN GARDEN MATRIC. HR. SEC. SCHOOL
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22.  sreygser ER wrHufs BTYSSET Jyewwliysener GHIUNGID euigeukissT wrsmey?

What are the shapes to represent database structures in ER model?

23. ewuSSTemerT vweru®sgl, CSV Gasriuswu uyéen Qrenr®  suiflupewmEener
GSMIUL(Hs.
Mention the two ways to read a CSV file using Python.

24.  Uersumio @M ypsvmullssr Cleuefluf® sresrenr?
What will be the output of the following snippet?
Mydict={chr(x):x for x in range(97,102)}

print(Mydict)
uggl — Il / PART - |l
JCsID  mi alerTésens® ol wellss. aflerr  sremr 3363 &L LTwors
allenL_wefl&seyib. 6x3=18

Answer any six questions. Question No. 33 is compulsory.

25. 9m Opplopenmuilsr FssHuTr’_enL geral®id &rrenflssner umm! GMliy sTapgs.
Write a short note on the factors of measuring complexity of an algorithm.

26. eougsrafle) GPOUWTSmer 2_(HheUTHGHusnasTar allgpenmasst wreneu?
What are the rules to be followed while creating an identifier in Python?

27.  ewuggrer while wL_sena allerd @b urieILL (b PeiTenm aueHrs.

Draw a flow chart to explain while loop.

28.  ceil( ) wpmd floor( ) ClFwhHen pisener CoumyuHs5s5.
Differentiate ceil( ) and floor( ) function?

29.  range() Qewmhan Pleir &L L_enerweniolisnL TS allends@s.
Write and explain the syntax of range( ).

30.  write whpib append yeppepwsaien, G o srer Caumiur® ersiresr?

What is the difference between the write mode and append mode?

31.  Select wpmib Project &1 _snersefisir Coumiuir® srsiresr?

What is the difference between Select and Project command?
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32.

33.

57D CLPSITMI ST 6Y suenrwmISHe0 Gloryl (DDL) &1 L_ememssmern uhm FmGmliy
ﬂ@g}ﬂi

Write short note on any three DDL commands.

@ ressr(® private LD T 19 &5 (¥ L 63T, QFwHInHEHOL LweTURSS Tl HS0ISTMSHMW
FH O BaTEG R PITOD TUSHIE.

Write a class with two private class variables and print the sum using a method.

ugd - IV | PART - IV

S| HS AllTTHHEHS S aflewL_werfl&HsHeaLb. 5x5=25

Answer all the questions.

34.

35.

36.

1. D|6TL|(HEHSH6T 6T63TLIGIT wreneu?
2. muy susnrs - (9)) 76 NS UT V6D DETTL| (BN
(24) 76 UMSU|L T Fnlg Ul 9| 61T L (16T
1. What are called Parameters
2 Write a note on - (i) Parameter without Type
(ii) Parameter with Type

(ysvevgi / OR)
FTeY S| HOULLTESSMS 6TeUTD) Qrwdu@ssiuTit? TOSSIESETHL6T aflend 5.

How will you facilitate data abstraction? Explain it with suitable example

sUTLDLT GlFWMHIn DD THSSIHHTL_HL6T allendSH%.
Explain about Lambda function with suitable example.
(svevgl | OR)
wussrafer & QFDGHEMT 5&bS THSSI5ETL_HL6T allersGs.

Explain about string operators in python with suitable example.

Nesreu(mio swLIGSTeT [Blredles Qeusfuf(® sTedrenr?

What will be the output of the following Python program?
A={x*3 for x in range (1,6)}
B={y**2 for y in range (1 10,2)}
print(A)
print(B)
print(A|B)
print(A-B)
print(A&B)
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(91svsv5) / OR)
L1153T8n HLD mugr,g,rrsirr ﬂﬂ'GﬂEﬁT @ﬁumﬂuj"@ 6TETENT ¢

Vhat will be the output of the following Python code

Class String:
def _ init (self)
self.uppercase=0
self.lowercase=0
self.vowels=0
self.consonants=0
self.spaces=0
self.string=""
def getstr(self):
self.string= "Welcome to Puducherry"
def count _upper(self):
for ch in self.string:
If (ch.isupper()):
self.uppercase+=1
def count_lower(self):
for ch in self.string:
If (ch.islower()):
self.lowercase+=1
def count_vowels(self):
for ch in self string:
if (chin ('A','a','e', 'E", ', 'I'. "o s, L)
self.vowels+—1
def count_consonants(self):
for ch in self.string:
if (ch notin (A", 'a', 'e', 'E", 'i". 'I" o, 0% W, WP,
self.consonants+=1
def count_space(self):
for ch in self.string:
if (ch==""):
self.spaces+=1
def execute(self):
self.count_upper()
self.count_lower ()
self.count_vowels()
self.count_consonants()
self.count_space()
def display(self):
print("The given string contains...")
print("%d Uppercase Ietters"%self.uppercase)
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print("%d Lowercase letters"%self.lowercase)
print("%d Vowels"%self.vowels)
print("%d Consonants"%self.consonants)
print("%d Spaces"%self.spaces)

S = String()

S.getstr()

;J-U|:}FIL¢J "1“'

o _mayBlenew @ubsenfls Cswhgpsefldy Spsremid OGFwWHGDSEMET &ShD
5105 515ETL DI_6T allerd @s.

(1) Union (V)

(2) Intersection (n)

Explain the following operators in Relational algebra with suitable examples.
(1) Union (U)
(2) Intersection (N)
(orsvev,51 / OR)
GarT®aasUL_Fsier employee gl cusnenrenw uwistu®@sSH, aflerr (1) wpgsv ()
ey BErHE: Hul L ensusens@ SQL sl L_ener stipsis.

EMP 5 ALLO
CODE NAME DESIG PAY WANGCE
S1001 Hariharan | Supervisor 29000 | 12000
P1002 Shaji Operator 10000 | 5500
P1003 | Prasad Operator 12000 | 6500
C1004 | Manjma | Clerk 8000 4500
M1005 | Ratheesh | Mechanic 20000 | 7000

(1) gousn st (Pay) Q@mrigsuflensullsd, enardgl  SH0IVSHENETYLD
&TL_(hen HMDG.

(2) ugassu  (Allowance) 58000 @gsv 7000 euewr Glumnd HwaTSHS)
SOVl HATISIT FHEULSHMOT SML_(HUSD ().

(3) usall (Desig) mechanic stewr e_sier ewards HeiusvTaaflar $o%aHenear
h&S.
(4) om yHw suflens sremeu o_sraflL_.

(S5) ugeall operators erewr o ster HEWTHH HIUNTHeflST  HHaULHMET
ST (husnG.
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Consider the following employee table. Write SQL commands for the questions (1)
to (5).

EMP ALLO
CODE NAME DESIG PAY WANCE
S1001 Hariharan | Supervisor 29000 12000
P1002 Shaji | Operator 10000 | 5500
P1003 Prasad Operator 12000 6500
C1004 Manjima Clerk 8000 4500
M1005 Ratheesh Mechanic 20000 7000

(1) To display the details of all employees in descending order of pay.
(2) To display all employees whose allowance is between 5000 and 7000.

(3) To remove the employees who are mechanic.
(4) To add a new row.

(5) To display the details of all employees who are operators.
614 06leveL mmb CSV Gamiiyssit Caumiuih5515.
Differentiate Excel file and CSV file.
(9svsvg / OR)

getopt() Qewbhsmpilsit &L L ewer JewwLiHU TS, ST ﬂmq@&&mmu{m
D|ewau FHUYLD wFliyseneru)d ailers@s.

Write the syntax for getopt() and explain its arguments and return values

sk
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wrHfl eflewrrggmrsir — 3 / Model Question Paper - 3
Gusvplensy @)rermrib oyesr(H

Perundurai R.S.

HIGHER SECONDARY - SECOND YEAR PH: 9486379461, 8344933377

PART - Il
seflefl gymlaflws / COMPUTER SCIENCE

(a8 wHmib gyriidlew euy) / Tamil and English Version)

(New Syllabus)

[arev erey: 2.30 wenfl Griri]
[Time Allowed: 2.30 Hours] [Maximum Marks: 70]

Siplejemrasr: (1)

(2)

Instructions: (1)

(2)

GSDIL: (i)
(ii)

Note: (i)
(1)

maTsgl allerrssepd sflwrslt ugSleurdl o srenTs eTOTUSZMTH
FgrluTiggls Osmerterayn. Fsuuglallsy Gepulpldlesr, mmée
sensrenfiuurerdlib o L ariqwras CQafalésseayin.

B evsvgl  smay  ewwullemar  wLEGW TSNS G,
Iy &CaTYRUsHEGHD LwaTUBSS CousT@I. UL MISET auamTausnE
ClueTdled LweaTUE'S S5 0L,

Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

Use Blue or Black ink to write and underline and pencil to draw
diagrams.

ugd — |/ PART - |

DTG S) QTTESEHE G alleni_wefldaaLb. 15x1=15
Car@ssuuc@erer wrmmy  alleoLsefld  flsayd HysHLW
allvLmwsg Csrhes®sss GOUTCELaT el wlemaryd Gsiss
6T(LRSH YLD,

All questions are compulsory.

Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.

1. $0r wrgflurer 965 Hearymassmar Qrwhsmmalng oetflarredd sfwrer
allenL.emws &Hid QFwma I sTeusurm) HeOYSSLIUBEMS?

(1) Impure GFwmanm) (<=1) Partial Qewmanm

(®)) Dynamic GewbhHami (/) Pure Qawmanmy

The function which will give exact result then same arguments are passed are
called:

(A) Impure function (B) Partial function

(C) Dynamic function (D) Pure function
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1

o)

sTemeu HTevs Gamliyser Birelfls QFwsvuL BT malweyL e @)m&EsiuBID?
(9)) 2_saflemenths ausHTGWsLsNsL ClFIWIMIn M)H6T

(94) 9w L_ssLUL L suemwrblsvemsy BlFwmam misHeT

(@) pwpserTallw suewrbluisLemsy GlFWMIn M)FHsT

(FF) 2_sitememio eusmrGluwsemey BlFwmHam miHeiT

Which are loaded as soon as the library files are imported to the program?
(A) Built-in scupe: \J,; &noiosed scope variables

(C) Global scope variables (E) Local scope variables

Ulesteu(mid s1gy Glpmlpewmmulledr LanTSam 1) HeV6V?

() 2_sraf () (o4) Blosv (@) stsvemevymmal () eTarflenio
Which of the following is not a characteristic of an algorithm?
(A) Input (B) Program (C) Finiteness (D) Simplicity

LIS S TBT16V 63 (T HIT6eM6V 675N (LPEHMEMNLOHETI6V 6T(LHSHEVTLD?

(91) @rew (B (<2p) eLpsdr ) (@) prevn () g2ba!
In how many ways programs can be written in Python?
(A) Two (B) Three (C) Four (D) Five
Leireu(mie ewudhH T h 10 37 Beualuf () eTedrewr ?
a=15
while (a<=20):
print(a%a end="")
i=i+1
()15 16 17 18 19 20 (.=, 20 19 18 17 16 15
(@00 0 0 0O (1 1 1 1 1 1

What will be the output of the following Python snippet?

a=15
whiie (a<=20):
print(a%a, end="")
=i+ 1
(A)15 16 17 18 19 20 (B) 20 19 18 17 16 15
(C)0O0 0 O 0 O 11 1 1 1 1
MUSSTETV (M QFwhHin Hewm suswTwmds LweTuGh Amiiy ClFTe 137
(o) def (=2,) local (@) rec (/) global
Which keyword to be used to define a function in Python?
(A) def (B) local (C) re:c (D) global

LIS S TE6IT 6ThG &L L6 sp(h &7 LOTHleww (PupewoTs BHEasl LweTuh S ng?
(=) rem () remove (@3) del () delete
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10.

11.

12.

13.

14,

Which command can be used to remove entire string variable in Python?

(A) rem (B) remove (C) del (D) delete
USSTRIlET eThS HLi_ewear @ Listeir Fargeng sa@uUlydal uwastu®Emng?
(o) for( ) (@) range( ) (@) len() (=) length( )
Which function is used to find length of a list in Python?

(A) for() (B) range( ) (C) len() (D) length( )

LS STV (3]G ULl penmulledT (1pHED) SeTL(H HENTIY LTS 6THS HOTL(FEUTS
B)mss CeueiT(HD?

(=) self (<) rec (@) global (/=) key

In Python the class method must have which named argument as first argument?
(A) self (B) rec (C) global (D) key

678 (1 L LsusnsnTulled o_arer Qgm_iyenLw sreyseflst gpup GsT@GLLy?

(o) suflens (o) usysamm (@) Sl Lsusnent () QuaTQuUmr@wer
Which is the entire collection of related data in one table?

(A) tuple (B) attribute (C) table (D) software

R STYSHMTSMS (WPHewsw commit Blemsv sueny LG Q&G ufleuidsenest
s Grum_® Qumrdl (TCL):

(<) Commit (=) SavePoint (@) Insert (/) Rollback
The TCL command used to restores the database to the last commit state:
(A) Commit (B) SavePoint (C) Insert (D) Roliback

wugGsTear Gamiy wenmenwsellsd seafldgseunrer ussLlllhsrs GCsmidlenss
HMEGD Yo D:

(o) W (=4) X (@) b () @

The python file mode opens a file for exclusive creation:

(A) w (B) x (C)b (D) a
Usiraumib epugsrer Blrsv Cariiilesr sflwrer Quwir e1g)?

(1) Pycpp-py (=21) pycpp.cpp (@) pycpp.c (/) pycpp.js
Which of the following is the valid Python program file name?

(A) Pycpp.py (B) pycpp.cpp (C) pycpp.c (D) pycpp.js

ST SSMTESIsTET SNETEZ) STaYsenemu)d Glums vwesTu@id SQL & hHmy:

() SELECT (<) CREATE (@) DISTINCT (=) ORDER BY
The statement in SQL is used to retrieve data from a table in a database:
(A) SELECT (B) CREATE (C) DISTINCT (D) ORDER BY

227 5

GREEN GARDEN MATRIC. HR. SEC. SCHOOL
Perundurai R.S.
PH: 9486379461, 8344933377


https://www.padasalai.net/
USER
Typewriter
GREEN GARDEN MATRIC. HR. SEC. SCHOOL

                      Perundurai R.S.

         PH: 9486379461, 8344933377


15. dlersump stgy matplotlib srl Aliu@®ss606T ausnas osva0?

(=) adlewGLralrmib (=) sul L susnruL b
(@) Quiiiy suewruL b () SQLite
Which of the following is not a type of visualization under matplotlib?
(A) Histogram (B) Pie chart (C) Box plot (D) SQLite
ugas! =1l / PART ~ 1
gCssyid Hmi  allerrsseneg L wsflas.  allerr et 245@  slLmwwrs
allenL_weflé&sayb. 6x2=12

Answer any six questions. Question No. 24 is compulsory.
16. @emwsd wHmib CFwUBSSHISN CeouniuT® sTTERT?
What is the difference between interface and implementation?

17. oL ssiul’ L susnroliussnsy eTeTDTsY 6T6TET ¢

What is enclosed scope?

18. ewussreflar Aplllwdyssr wrensu?
What are the key features of Python?

19. eowussreflar udGaum OFwmham m) CFwIHYSaT6ET auensS6T WTeneu?
What are the different types of function arguments in Python?

20. swapcase( ) ersirpme) 6TeITaT eTSITUN S (T STHSSHIESTL (RIL_SIT 6TPSISS.
What is swapcase( )? Write with an example.

21. SQlitesb @ sroysardens o_(HeuTsEEHib DUSSTET BITFe) HITEND 6TPSHIS.
Write a Python code to create a database in SQL.ite.

22. DBMSer plenmasir wrensu?
What are the advantages of DBMS?

23. CSV Gsriiy ersirpmev sr6iTear?
What is CSV file?

24. ersumid smuggresr Blredlsir Gleusfluf® ersirar?
What will be the output of the following snippet?
set_ A={A 2,4, D}
set B={A','B','C','D’}
print(set_A & set_B)
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u@# — 1l / PART - 11|

gGsad o allerssense  aflorwafllss.  aflarr  eew 33&@ s LTwinrs
allem_weflaseyi. 6x3=18
Answer any six questions. Question No. 33 is compulsory.

25. y&dlser HmID CFVSGILT&6T sTTHTE 6T6sT6I?

What are constructors and selectors?

26. Uy auflenswrés OpplyapssTar Guradld YWD RETOD TEDHIG.
Write a pseudo code for bubble sort algorithm.

27.  epuggrefler inpul( ) upn AnigPliy gstenm sTupsis.
Wirite a short note on input( ) in Python.

28. ewuggreflsr if...elif...else mprler OsTi_Menea sTapsis.
Write the syntax of if...elif...else statement in Python.

29. el eueruULLD TETHTYD eTeTaT? @USSTAND UL eIMIULSms 6T6UUT )

2 (heuT&Geumil? G @) TOSSISETLD S(HS.
What is pie chart? How will you create pie chart in Python? Give an'example.

30. ewuggmrsir Public whmb Private srey o_miciyaser wrensu?

What is a-Rublic and Private data member in Python?

31. SQLeir DELETE, TRUNCATE whmito DROP st Lsnerasaflsit LwesT sTeiren?
What is the use of DELETE, TRUNCATE and DROP commands in SQL?

32. Ct+t+4 Guavrsr enuggrafler Laydbem missr wrensu?

What are the features of Python over C++7?

33. srgms GIELTEGEsY upyl CsTLfwd wHmD TOSHIEETLHLET Amia oty
ST(DS) 5.

Wirite a short note on string slicing with syntax and example.

ugsl -V / PART - IV
S MG NaTTESEHEE allenLwefldsea. Sx5=25
Answer all the questions.
34. Qmplyperpuilsr Aasd unhal aflersEs.
Explain about Complexity of an algorithm.
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39.

36.

37.

(150803 / OR)
HLISSTET allsVeNEVFHET 6T sueHBHEMaT 61ll6mdh @5,
Explain about the types of tokens in Python.

DUSSTRISHT L _&@&HB6TeT susnssen wreneu? gBaHemIn R THSSHISSHTL (HI -6
aflemds 3.

What are the different types of loops in Python? Explain with an example.
(91svsvgy / OR)
MUSSTET LOTM] 6ueHTEIIEMEVSHST WTewe?

What are the scopes of variables in Python?

LeiTeumLo o_siraflenemthg &1 CFwmas misewerts uHyml GmILiLy ausnrs.

() capitalize( ) (=) isalpha( ) (@) isalnum( ) () lower( )

Write the short note on the following built-in string functions.

(i) capitalize( ) (il) isalpha( ) (iii) isalnum( ) (iv) lower( )
(OR)

Dictionary srsitmmsv stedraar? o6t GHmflwsd whmyn List wmhmib Dictionary i
@)ew_ullevmrer GoumiLim(HHeNeTu|id 6THSHI%.

What is dictionary? Write its syntax and differences between list and dictionary.

QarT@®ssriul_ L Gsuafluf_swL Qumieusn@, LilsTaumid Blrewed $(HHdH! 6%,
Rewrite the following Python program to get the given output:
euafluf® / OUTPUT:
Enter Radius: 5
The area = 78.5
The circumference = 34.10
mlrsv /| CODE:
Class circle( )
pi=3.14
def --init___ (self, radius):
self=radius
DEF area(SELF):
Return
Circle.pi + (self.radius * 2)
Def circumference(self):
Return 2*circle.pi * self.radius
r = input(“Enter radius= ")
c = circle(r)
print “The Area: “, c.area( )
printf (“The circumference=", c)
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(ojsvevgl | OR)

DBMSeiT LIsiTL 58 DISET WTeneu?
What are the characteristics of DBMS?

5705 HH 6T LGN GUEHSWITET s_@Hrur@sst (constraints) wreneu”?
What are the different types of constraints in Database?

(osvsvg1 | OR)

Nestau(pLd e»LIGSTET B]7edlest QsusflufenL_ susHIs.

Draw the output for the following Python code.

import matplotlib.pyplot as plt
a=[1,23]

b =[5,7,4]

x =[1,2,3]

y =[10,14,12]

plt.plot(a,b, label="Lable 1)
plt.plot(x,y, label="Lable 2')
plt.xlabel('X-Axis')
pit.ylabel("Y-Axis')
pit.legend()

plt.show()

ek dk
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ralifl aflerrggsrsr — 4 / Model Question Paper - 4
CusvBlensy @)renri_mip a5
HIGHER SECONDARY - SECOND YEAR
PART - Il
sewtlesf] gylailws / COMPUTER SCIENCE

(B wHDID oy mHsw suypl / Tamil and English Version)

(New Syllabus)

[BTev gjemey: 2.30 wenf Cmyrin]
[Time Allowed: 2.30 Hours] [Maximum Marks: 70]

IBleyewraser. (1)

(2)

Instructions: (1)

(2)

Soliy: (i)

Note:

(ii)

(i)
(i)

WSS allarTssenn sHlwursl uHars 2 _6T6NTS 6T6HLIGHEMEI S
FHlUTT &35 Cl&reiremayib. YFFULZRND  Gewmul i fesr, S| MM &
& 680735 Tewt] 1L mer i L_1b 2 LaTyuwrsg Glpflailssea.

PO gevg  smLUY  enwulensr W BCw  eTapgIeushH@ b,
93 5CH Ty Heusm @b vweTu®hSs CeusdT(Hb. LIL Kigsir UM T 6US M (S
GluesT S0 LwesTU(H S %6 LD.

Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

Use Blue or Black ink to write and underline and pencil to draw
diagrams.

ugg — |/ PART - |
DN SF) Ol T T35 (6w 65 (3510 allewL_weflsseayib. 15%x1=15

C&TB &SI (BHsiTer wrpp el seflsd  Waeayin 7D L{eWL_w
allewL_emw g CaTh0505515 DTl B st allewuilenaruyo Gsida)
ST(LRS & LD,

All questions are compulsory.

Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.

OlFwmHan pilsv Srey ausmas GUliy sTapgoBuray, LilssTeuhid sThS 9| WL_LILY 3 &)

HL_L_Twiom@in?

(=) {} (25) () (@) [] (/) <>

Which of the following are mandatory to write the type annotations in the function
definition?

(A){} (B) () (C) ] (D) <>
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@) I HDET PHTMHTSE HL_L_WLSHFH60 3)susuTn) &HSLIU(DILD.

() Pair (=) Triplet (@) single (=) quadrat
Bundling two values together into one can be considered as
(A) Pair (B) Triplet (C) single (D) quadrat

@) OpPlypenpullsit Gariurl B ClFwsVFmesT LEGLUTILGY hEGLD.
() phewsw wgTH (Priori estimates)
(=) Ubewaw Gargemerr (Posteriori testing)

(@) @) &srrewfl (Space factor) () Gwrasmrrewt (Time factor)
This is a theoretical performance analysis of an algorithm:

(A) Priori estimates (B) Posteriori testing

(C) Space factor (D) Time factor

UlesTeu(mid 6THSE Fn DM (VUS| Fan DMISET H6UDTTHI?

(1) wussrer s Curg vwerurl (B CwrPur@gh. Fas Dlalwsd wHmb
MWL HeLVTH BITeVTEHESSHS M EHLD LIWeTL(HHSHEVTLD.

(2) swugsrer m DU L QuEs wpeopewwsnw FTrTsd Glwry]

(3) swugGsTesfled sTpSSLILL L BlrsVsemer LigLliLgD, Yflbg 6lsTeTeugid $ig.6TLb.

() snppy 1w Gid (B) snpmy 1 by 2

(@) =Py 3 w (B (FF) D|EWETSHF Fn DM EHLD

Which of the following statement(s) is not correct?

(1 Python is a general purpose programming language which can be used for both
scientific and non-scientific programming.

(2) Python is a platform independent programming language.

(3) The programs written in Python are difficult to read and understand.

(A) Statement (1) Only (B) Statement (1) and (2)
(C) Statement (3) Only (D) All statements
QuUT(HSSHI%.

(a) if...elif . (i) msusv (Jump)

(b) while - (i) @sT@a) (Block)

(c) pass - (iii) wL_&@ (Loop)

(d) indentation (iv) &ewer iy (Branching)

(1) (a)-(iv), (b)-(iii), (c)-(i), (d) (ii) (=) (a)-(1), (b)-(iii), (c)-(iv), (d)-(ii)
(@) (@)-(iv), (b)-(i), (c)-(iii), (d)-(ii) (/) (@)-(i), (b)-(iv), (c)-(ii), (d)-(iii)
Match the following:

(a) if...elif - (i) Jump

(b) while - (i) Block

(c) pass - (ili) Loop

(d) indentation - (iv) Branching

(A) (@)-(iv), (b)-(iii), (c)-(i), (d)-(ii) (B) (a)-(1), (b)-(iii), (c)-(iv), (d)-(ii)

(C) (a)-(iv), (b)-(i), (c)-(iii), (d)-(ii) (D) (a)-(1), (b)-(iv), (c)-(ii), (d)-(iii)
221
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10.

11

12.

fimiy Gsrhe&erHm Ty 9Ty HE ST TeuTT) HDIPHBLILGILE.

(.9y) Sets (-2) List (@) Tuples (/) Dictionary
Non-keyword variable arguments are called as
(A) Sets (B) List (C) Tuples (D) Dictionary

demeum e7hs SHuf® format( ) Qewma v @ Bridwrs g yevsdler
drglufrs vweTuhaSma?

(-o1) { } (o) <> (@) ++ () A

Which of the following is used as placeholders or replacement fields which get
replaced along with format( ) function?

(A){} (B) <> (C) ++ (D) A

s1h%5 CFwnHam g wusisTefled CHTL TwFlysemer 2 Hourss vweaTu@Fmg?
(=) series( ) (-a4) range( ) (@) list( ) (+) tuple( )

Which Function is used to generate a series of values in Python?

(A) series( ) (B) range( ) (C) list() (D) tuple()
(96973 3y 15 FH6T UDTWDHH LB DFWDHIAMD) ......... sT63TM) YL EI D).

(<)) LI L& Tn M6 (-9),) oML HBan (3) Crwgpyser (F) suflypemmaser
The function defined inside a class is called as .........

(A) Attribute (C) Parameter (D) Arguments (D) Methods
STih@ UM 5 2_MeUPsN T LIGBlemsY o THTlemw supni@sma?

(-91) pS1yL_eir spaiTm; (1) pTmIL 65T LIS

(.5)) L NG D& (%) LsVsUDHMIL 65T LIV

What type of relationship does hierarchical model represents?

(A) one-to-one (B) one-to-many

(3) many-io-one (D) many-to-many

e bt oamer TTruncate sri s aisns &L L enenr

+ ) DDL (=) DML (@) TCL (=) DQL
The SQL command ‘Truncate' comes under:

(A) DDL (BY DML (C) TCL (D) DAL

csv.register_dialect() Gswmamplev, Ulsiteumd ohs Gewsmy  Ceummy
3enL_Geualeww HHH0 vweTUBE M7

( «) removespace (<) skipinitialspace

. . ) skipspace (=) removeinitialspace
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In csv.register_dialect(), Which of the following parameter is used for removing

whitespaces?
(A) removespace (B) skipinitialspace
(C) skipspace (D) removeinitialspace
13, cccaniues .. 6T TS SMBUITENSUI Fn MBlsmevemul HNTH GFiud pm 2 sraf enenths
1N .9 4y,
() _name__ (<9) __main__ (@) _mode__ (/%) __Init__

............ is a built-in variable which evaluates tc the name of the current module.
(A) _name__ (B) _main__ (C) _mode__ (D) __init__

14. o131 sreysser usayseflsr Bgh GFwLiil(®h SHroysemer @eweNTdEG

SL_(HUuur_ (B OsoLoliL ) FLb.
(o) fetch (-94) fetchall (3) cursor (/) key
Which is a control structure used to traverse and fetch the records of the database?

(A) fetch (B) fetchall (C) cursor (D) key

1 { . A — SUSHTAIL_LD 57 D) HEMET L{siTehared 2 H1 HLULTSH HTL(HBIMG).
() sur (91,) BB (3) Sy () a1
........... plot is a type of plot that shows the data as a collection of points.
(A) Line (B) Scatter (C) Box (D) Pie

u@g - Il / PART ~ ||

JCHsYID Ym AN TEBHBEH o en_weldhs. alerm etevwr  245@ SUL TwioTs
allem L werf!$HHeyLD. 6x2=12
Answer any six questions. Question Nc. 24 is compulsory.

16. Namespace srstimmsv stediui?
What do you mean by Namespace?

17. ewusbsTertleL allsUemer Heir 6T6di NiTel oT6d 637 7

What are tokens in Python?

18. ewuggreflsir while wi &4 5 1 1o fwsmsw 6114515,
Write the syntax of while loop in P ‘¢
19.  Oasr@sstiul_@Bsirar swuSHTT Hlrslisd aaloll »1 11 _HEWDH QISHT .

import matplotiio.pyplot as plt
pit.plot([1,2,3,4]. [1,4,9,16])

plt.show()

Draw the chart for the given Python snippet.
import matplotlib.pyplot as plt
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20.

21.

oL

23.

24.

plt.plot([1,2,3,4], [1,4,9,16])
plt.show()

DUSSHTT  HOerTus)  suewrGlwevemsy  FAmlysF  Gerevedlet g liuenL
allglypemmsaflsy sTCHMID @)renrent_ 6T(10F15.
Write any two basic rules of global scope keyword in Python.

wLISSTestleL Set sTarmmsy sTedTeur?
What is set in Python?

SQLsir sreys s Glurl® GQuwrifls (DCL) s _snerssit wrensu?
What are DCL commands in SQL?

Scripting Quriflseflssr LweTUTHHemarT 6TYSIS.
Write the applications of scripting languages.

LiledTeumid ewLGHTeir Blredlsir Gleustuf® sTeirsar?
str1="THOLKAPPIYAM"

print(str1[4:])

print(str1[4::2])

print(str1[::3])

print(str1[::-3])

What will be output of the following Python snippet?
str1="THOLKAPPIYAM"

print(str1[4:])

print(str1[4::2])

print(str1[::3])

print(str1[::-3])

u@gal - Il / PART -l

TG KM allaTrssens@ el wellss.  allerr  stewr 3353 s LTwwLrs
aflemL_wefldseLb. 6x3=18
Answer any six questions. Question No. 33 is compulsory.

295.

26.

27.

epsiTmI ClFwg(HLHaflL HmMbS WFHIWLS STEYID QFWDHIn 1) PATEND 6TILHSHIS.
Write a function that finds the minimum of its three arguments.

ST | (HULTHEEHMS sTeusuTm) BlFweOLBHSSHIeuTI7?
How do you facilitate data abstraction?

suflenFpenmsd GxLelleir GuTads G penmen 6T(LHSIS.
Write the pseudo code for linear search.
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28. dFmy GMUL auewrs.
(o) id() (=) type() (@) chr()

Write a short note on:
(i) id( ) (i) type() (i) chr()

29. fetchone( ) wmmio fetchmany( ) GaumurBoHener S IINICES
Mention the difference between fetchone( ) and fetchmany( ).

30. spussTels) pds wHDID YIL-ew sTaIaITY) suem T wimyLILImii?
How do you define constructor and destructor in Python?

31. DBMSsir e 2_payBlensw GFwphurhEesrL umm) Gl auenTs.
Write a short note on Unary Relational Operations of DBMS.

32. ewussrTeiey csv.write( ) CFupamm RH FTHTIEET CSV Gasriisnu 2 (Heurssl
sTaueumTm LweTUB S M7 |
How csv.write( ) function is used to create a normal CSV file in Python?

33.  eraumid souggresr Blredler Geuafuf® 6TGIT6UT ¢
str1 = "welcome”
str2 = "to school"
str3=str1[:3]+str2[len(str2)-1:]

print(str3)

What will be the output of the following Python program?
str1 = "welcome”

str2 = "to school”

str3=str1[:3]+str2[len(str2)-1:]

print(str3)

ug® - IV/PART - IV

WSS alTTHSEHSES allwLweflssa)L. 5x5=25
Answer all the questions.
34.  QaTEHssT sTHTUST WTEHeT YjeuhHmlesT LeTLI WeVL)H6T WTemeu”?

What are modules? What are its characteristics?

(oysvsvg / OR)
BzhosH LIy suflewFwTSHs QpPysppullssr Gursils GD(PeHDW 6T(HHI%.
Write the pseudo code for selection sort algorithm.

35. ewugsreflsr while wL_sesu umm! GlLimHG s Lo sTHH3IHHTL_(HL_6T allendH%.
Explain about while loop in Python with suitable example
(ysvsvz / OR)
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36.

37.

38.

dussTeallear  CFwmhHam m) DT (HEBHmeT  GlLIT(HdSLomesr STHSHISHTL (D161
allemds @3,
Explain types of function arguments in Python with suitable examples.

Ulsiteu o &1 QFwmham misenar CuTmSSTe sTBSH1ESTL (HIL_sbr allems 3.

(9y) center( ) (=) find( )
Explain the following string functions with suitabie examples.
(i) center( ) (1) find( )
(9ysvsvg / OR)

Ulesteuwio ewLIGS T Blrsdlesr GeusfluT® srssrear?
LVhat will be the output of the following Python program?
=1)

for x in range(1,11):

N.append(x)
Num=tuple(N)
print(Num)
for index, i in enumerate(N):

if(i%2==1):

del N[index]

print(N)

STYSFHMSI0 LWSTUBILD 2 neyBenavseilsir s16H%%emen a6 3.
Explain the types of relationships used in database.

(9ysLsv5 / OR)
SQLsir 76y enawmenze Corifls s Lswensenarc L) )il 61T dh (3 5.
Explain about DML commands of SQL .

SQLite3sv  ssreumip Broyseven GFubllasayn, Fmbu sTH s P(H WL hHJ, | 6di
BITensy 67119315, -
Write a Python program to store and retrieve the following data in SQLite3.

Sreaygser L eugeusmwiiy / Database Schema:

Field Type Size Constrain
Rollno INTEGER PRIMARY KEY
Sname VARCHAR 20

Gender CHAR 1

Average DECIMAL D, 2
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Tuple-gys 2_srefl_CiuL_Gsusirigw greyser / Data to be inserted as tuple:

Rollno Sname Gender | Average
1001 KULOTHUNGAN M 75.2
1002 KUNDAVAI F 95.6
1003  RAJARAJAN M 80.6
1004 RAJENDRAN M 98.6
1005 AVVAI F 70.1
(oysvsvg / OR)
anlev@Lrdlyrd wHmb ulewL. sudTUL BSEHEG L wrer GaumurbhseT

wremneu?

What are the key differences between Histogram and Bar graph?

LA b &
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wrglfl allerrgsrsr — 5 / Model Question Paper - 5
Gusvplemsv @)resTL_mib 9,651
HIGHER SECONDARY - SECOND YEAR

PART - Il
senflesf) symlafwe / COMPUTER SCIENCE

(s wHmib gy rislew suyf) / Tamil and English Version)

(New Syllabus)

[BTev gyemey: 2.30 wewfl Criid)
[Time Allowed: 2.30 Hours] [Maximum Marks: 70]

S pleyenraser: (1)

Instructions:

(2)

(2)

GDI0Y: (i)

Note:

(i)
(i)

(1)

WIS allarTssen Flwrsl uBleurd o erentTsy eTTUSMTEF
Filuriggis OCasrerenreyd. Fxtiuglallsy Gemmullpiisr, yewms
senTsTenfliurerflib 2 L arguwrsd 6%fallsseayib.

pevlb Vg smUy  ewwullemer  wl HBw  sTpSIUSDGILD,
Iy ECHsTIyHeusN@GH LweTUBSS CousdTHID. UL BISH6T suUHTUSD S
GlueTHlsL LweTUBH SIHaLD.

Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

Use Blue or Black ink to write and underline and pencil to draw
diagrams.

uggl — | / PART - |

DM S| TS EH G allewL_wefldbsaLb. 15x1=15
Car®ssiul_(Hsrer  wrHm  allewLseflsd  Wsayd  eHLUMLW
alewLewwsd CsTHosHHH55 GPuT_BHLer allenLulleerujd Csigg)
ST(LS O LD.

All questions are compulsory.

Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.

Ulesreumib e165 Cpmlpemm Ufs5s ensliummisew o 556 @ Hlarrearg?

() CFm@pssL auflewmawrasio (=1) @wnig Blrevrdssio

(@) Carbos®m iy CsL_sv (/) @] Blrevmrssio

Which of the following algorithmic approach is similar to divide and conquer
approach?

(A) Insertion sorting (B) Dynamic programming

(C) Selection searching (D) Bubble programming
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.................. ow vweTu®h sz ADT Gerwsvu®S5 01U 0D,

(o) 2Dewm @ewenTiiyls L 1q wed (24) BIriew @ewenriiyls LU 19 wied
(3) <o D[VEVS] ), (7F) = @)svemev, 9) @)sLemev
ADT can be implemented using ..........
(A) singly linked list (B) doubly linked list
(C) either Aor B (D) neither A nor B
Ulsireu b 6181 QBT &S Brevrssssmn s sT(HSSH15HTL_(H eVeV?
(9)) QFwsvenmasiT (24) s1ememt Blrsvser
(3) @ers 5w (/) OFwmHanm)
Which of the following is not the example of modules?
(A) procedures (B) subroutines (C) class (D) functions.

WUSSTTST 11y T G5 QFwm @y sr5?

() / (=25) % (@) %% () /]
The floor division operator in Python:
(A) / (B) % (C) %% (D) //
muggTer range( ) Clewman Pler aflmii ey m:
(=) start (=) stop (@) step (/) slice
The optional parameter of range( ) function in Python
(A) start (B) stop (C) step (D) slice
Ulsireu®io snuggmesr Blredlsst Qeusfuf(® stsiresr?
c=5
def add():
C=Cc+5
print(c)
add()
(A) 5 (B) 10 (C) 15 (D) demyp
What will be the output of the following Python snippet?
c=5
def add():
C=Cc+5
print(c)
add()
(A) 5 (B) 10 (C) 15 (D) Error

9, B&leV Cluflw 6T1ps 560 61856 BLimsaTemsTL UG eM6U HFFIL. LWSTUDBILD suigayL L 6
TSI Y
(o) %e . (=4) %E (@) %g (/) %n

The formatting character is used to print exponential notation in uppercase:
(A) %e (B) %E (C) %g (D) %n
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@) ri_soL_s6T B)svevrs, rHDailweTs WHDID auflensFu@SHSLIULTS 2 Il sef s
QHTELIL 67517

() List () Tuple (@) Set () Dictionary
Which is a mutable and unordered collection of elements without duplicates?
(A) List (B) Tuple (C) Set (D) Dictionary

(@) 63T (@) (L) FTEITM)(HEUTHHEV TETLISGI | |
() 2 B)60T6 G (MU 2_(HEUTS S SH6V (24) P YPSESMW 2_(HEUTHSHSN

(@) 20 SPliflepw 2 (HeuTSHGHHV (%) sp(p QU (HEmeT o (16U T &HFH6V
The Class instantiation means:
(A) Creating a class (B) Creating a constructor

(C) Creating a Destructor (D) Creating an object

DBMSsv 2_peyFlenev @lwhsenissslsv projectss SOuT®:

(o) o (=) I (@)~ () U
The symbol of project in relational algebra of DBMS:

(A) o (B) I (C) N (D) v
QUT(HSSHI%.

(a) DELETE - (i) DDL

(b) DROP - (i) DQL

(c) SELECT - (iii) TCL

(d) COMMIT - (iv) DML

() a-iv, b-iii, c-ii, d-i (=) a-iv, b-i, c-ii, d-iil

(@) a-i, b-iv, c-iii, d-ii (%) a-i, b-iii, c-iv, d-ii
Match the following:

(a) DELETE . (i) DDL

(b) DROP - (i) DQL

(c) SELECT - (i) TCL

(d) COMMIT - (iv) DML

(A) a-iv, b-iii, c-ii, d-i (B) a-iv, b-i, c-ii, d-iii

(C) a-i, b-iv, c-iii, d-ii (D) a-i, b-iii, c-iv, d-ii

CSV QGariisnu dictionarysmw uUgss ........ vweTUB B DS

(=) Reader (4) DictReader (@) CSVReader . () FileReader
To read a CSV file into a dictionary can be done by using..........
(A) Reader (B) DictReader (C) CSVReader (D) FileReader
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14,

15.

.......... STRTLS &P pempevw Amifmy U@dlserra LNfliugmnasresr et G LT (H6iT
SULGUSMLOLILY BIL_LILDT (SLD.

(1) Qurmeir Cprés@ Brevrdsin (24) QwsE Blrevrssio

(8) QFwsvapsmm CpréE Hlrevrssn () Fn MUKWV Bl revTdH LD

......... IS a s_oftware design technique to split your code into separate parts.

(A) Object Oriented Programming (B) Dynamic Programming

(C) Procedural Oriented Programming (D) Modular Programming

Ulssteumid 15 sismentilred SQLs QriewL ugleymenar Hailiden?

(=) DISTINCT (<=4) HAVING (@) WHERE (#) GROUPBY
Which of the following clause avoid the duplicates in SQL?
(A) DISTINCT (B) HAVING (C) WHERE (D) GROUPBY

UlssTeu(mib s1b5 matplotlib CFwmnen g sufl aflerdas L kissver susnrus
vweTuBH & mg?

(=) pie( ) (=23) line( ) (@) bar( ) (/) plot( )

Which of the following matplotlib function is used to draw line chart?

(A) pie( ) (B) line( ) (C) bar() (D) plot( )
ugg! - Il / PART - ||

JGHmD  ymy alarréssensd  aloLwelss.  ealarr  sremr 2453 S _Twwors
allenL_wefldsseayib. 6x2=12
Answer any six questions. Question No. 24 is compulsory.

16.

17.

18.

19.

20.

Impure @swhanm stestmmed sreires?
What is impure function?

Culiile stedTmmred sTsdTenr?
What is mapping?

MUSSTefl60 LwedTL(H)SS1LH 0D usVGoum) CQFwmh@Blser wrsneu?
What are the different operators that can be used in Python?

() SWIG (o) MinGW allfleursssans TIPS 5.
Write the expansion of (i) SWIG (i) MinGW

gy 'school’ srestuglsv ‘h’ steirm TS SImallsst Gpiwenm LomHmyb TS| TLoemm
ST B srsiTerr?

What is the positive and negative subscript value of the character ‘h’ in string
'school’?

GREEN GARDEN MATRIC. HR. SEC. SCHOOL
Perundurai R.S.
PH: 9486379461, 8344933377

243



https://www.padasalai.net/
USER
Typewriter
GREEN GARDEN MATRIC. HR. SEC. SCHOOL

                      Perundurai R.S.

         PH: 9486379461, 8344933377


21. Aeiraumio @plepsmmuilesr Glauefluf () STGOTGHT ¢
alpha=list(range(65,70))
for x in alpha:
print(chr(x), end="t)
What will be the output of the following snippet?
alpha=list(range(65,70))
for x in alpha:
print(chr(x), end="t)

22.  (@)ewd@ (g FTETDIHOUTHSSS6S OsTLflwensd 6TIPHIS.
Write the syntax of class instantiation.

23.  SQL whmib MySQL Gaupyur® stsirear?
What is the difference between SQL and MySQL?

24. SHTOMTHSTERT HHYPHSLD QFWHIn IS @ UTIDEHLI CTEUUTD VLSS Geusir(id?
sTHSH1SESTL(h SH(HS-
How to set the limit for recursive function? Give an example.

L — Il [ PART — Il
gCsed o STTESEDSS aNenLwefds. allerT erar  33&@ SLLTWLLTS

aflewL_wefl&HayLb. 6x3=18

Answer any six questions. Question No. 33 is compulsory.
25. Neireumeusseupmis constructors wmmiL selectors sTemeu 6TE HEHL_WITETLD & T6NTS.
() N1=number()
() accetnum(n)
(@) displaynum(n1)
(/) eval(a/b)
(2_) x,y= makeslope(m), makeslope(n)

(2er) display()

Identify which of the followings are constructors and selectors?
(a) N1=number()

(b) accetnum(n1)

(c) displaynum(n1)

(d) eval(a/b)

(e) x,y= makeslope(m), makeslope(n)

(f) display()

26. QpPys»p UEGLUUTILS] WHDILD Qswsvdmer wHTgeT LG LI1g 5] 6M 6V S 61T
wreneu?
What are the different phases of analysis and performance evaluation of an
algorithm?
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2r.

28.

29.

30.

31.

32.

33.

Ulssraupib uigsusens FFBH HUSSTET BlTed ReTenm 6T(L0S5I5.

wollosRuolus)
T OO0

D
DE

rite a Python program to print the following pattern

>PP>P> S >BB>>>

o 00 o
OO0
OO0

-

WUSSTEHEIT P FTSIIeTen PsuiGleum(h 6T1PHSHI(HaY &G0 sTeuuTmy &1 G\ avr
25155 B ClFwiuBHma?
How index value allocated to each character of a string in Python?

Br6y STLFUUBSH606 sTEHID CpsiTH HETEDLOSEMET 6T(105)5.
Write any three uses of data visualization.

sTTieflwer ClumEsme QuTmEsswTar 9 TBS5HI5STL_ (L 6T ailemds 3.
Explain Cartesian product with a suitable example.

write whmio append yevpewwaetlsr Gaumur® sssrear?
What is the difference between the write mode and append mode?

dsireumio  afleurtiseflsr ougliussLullsd gewpaurfwurs ugleysener Slemyull(® o
WUSSTET BHlT6D PesTenm 6T(L0S515.

Sreydsem Gluwir . organization.db

I|L-Lsusmwewt Gluwir  : Employee

L| 6V i & 61T : Eno, EmpName, Esal, Dept

Read the following details. Based on that write a python script to display department
wise records

Database name: organization.db
Table name: Employee

Columns in the table: Eno, EmpName, Esal, Dept

while wiL_semal vweTu®SS) wbs WS UsTSeT U g wedll () gyeumnesr
Clors WHGuSTHmeT HeRTHE_ B &L MUSSTEIT BHlT6D PEITENMD 6TLPS IS,
Write a simple python program with list of five marks and print the sum of all the
marks using while loop
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ugsl — IV/PART - IV

DTS G| OTTEHSEHH G allenL_wefl&Hs5seaLD. 5x5=25
Answer all the questions.

34,

35.

36.

Lesreumio Blredlsy &psanTL_sumsnm Ser(hLilg
letrecgcdab :=
if b <> 0 then gcd b (a mod b) else return a
(9) OFwmam Pler Cluwir
() @5 M SHTOAMGZTEIT  YDYPHSHIHCSTETEHL  GlFWDID TRATLDS
9MaflE @ gapHewm senT(HLilly.
(@) QFwedmy wa et GluwiT
(%) QFwhHInHewD HHTMATHSTET Y eWLPSHH1506lHTeTen GlFIULD Fn DM

(2) S6iTemarTsH TR HMYHSHIHCHTETEHSMN (PG HSHIMaUdHSHLD Fn DM

|dentify in the following program

letrecgcdab =

if b <> 0 then gcd b (a mod b) else return a
i) Name of the function
i) Identify the statement which tells it is a recursive function
i) Name of the argument variable
iv) Statement which invoke the function recursively
v) Statement which terminates the recursion

(60505 / OR)
Qpm penmuller LsTUWELSmaT allend @H%.
Explain the characteristics of an algorithm.

LSS TN ST HHTENT Y1555 0% TETEHLD ClFWNHIn DISHEMET
sT(HSHIHHTL (HL6T allard &sb.
Explain recursive function in Python with an example.
(osvevg1 / OR)
soussreflsr find() Qewham m upBlwu GYILL PeTOD 6THHIS.
Write a note on find( ) function in Python. )

Nesreumid enuGsmessr Blredlesr Geuafluf®p sTsireor?

What will be the output of the following Python program?
={x*3 for x in range (1,6)}

B={y**2 for y in range (1,10,2)}

print(A)

print(B)

print(A|B)

print(A-B)

print(A&B)

print(A*B)
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37.

38.

(oysvevz1 / OR)
DBMSesr usirLilwsvLjsemen allemsd @s.
Explain the characteristics of DBMS.

CSV Gasriifley sraysener augausmwliugn@ Ueatunmn Gauarigw ailgluypenpssner
EIES
Write the rules to be followed to format the data in a CSV file.

(ojsvevg / OR)
getopt()sir @ari_fswsv sTpg%. Gog)h, HF6T CFWEIHLSMeTU|D GBI B(HLILJLD
WHIYSemaru)d ailems@Hsds.
Write the syntax for getopt() and explain its arguments and return values

HAVING gyenenr Blrsdlsit LiwesT sTestesr? sDLISSHTET BITsD 6D 6T(HSHISSTL LTS
SH5.
What is the use of HAVING clause? Give an example python script
(oysvsvg) / OR)
matplotlib ssiresrsv Semruilesr LLBoum CUITHBH T THMT QlloTd & s%.
Explain the various buttons in a matplotlib window.

% de ok
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rglfl allerrggrsr — 6 / Model Question Paper - 6
Gwsvplemsy @)resrL_mib 2y, (H
HIGHER SECONDARY - SECOND YEAR

PART - llI
sewtlesf] gylailwsy / COMPUTER SCIENCE

(B wHmib Al suyf) / Tamil and English Version)

(New Syllabus)

[sT60 jemay: 2.30 wenfl Gmiib]
[Time Allowed: 2.30 Hours] [Maximum Marks: 70]

S Mleyewraser. (1)

(2)

Instructions: (1)

(2)

@Iy (i)

Note:

(ii)

(1)
(i)

MBI alleTTEsEpn FAlwTsl udleurd o sTeTTs ETHTUSMETSH
FAluTiggs Csretenayn. yFstudalsy Gempulmidsr, e
HNTHTeRTIIUTeTTL b 2 L eriquras Csfalssea.

po  9evevg  sBpOy  ewulever  wL GG  eTapgIeuSH S0,
Iy 5CETYHUSHGL LwTUBSS CeuadT(Bb. UL KIS auMTUSDHE,
GlueTHlsL LIwWeTLHSSHLD.

Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

Use Blue or Black ink to write and underline and pencil to draw
diagrams.

ugg — |/ PART - |
YW HF) QlTTEHSEHS @D allenL welldbseayLb. 15x1=15

Carhssiiu’Bsarer  wrpm ol sefldd  Bseyd  gHyLW
allewLsmws CaibolsB5516 GPuT_BLer allswL ulleneruyb Ceidz
ST(LRS | LD.

All questions are compulsory.

Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.

Lilssreu(mib 618 seafldssrenwwrer Qsrflwsv 5T EHeH?

(@) giswenr Prse (o) Qrwpsnmy (@) uewrwenp () Opr@Sas
Which of the following is a distinct syntactic block?

(A) Subroutines (B) Function (C) Definition (D) Modules
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dlssreumd 6781 wed 2 miiy  Qurmeflsr usvGaum uGSlsemdsE QU
AN TR AL YV

() Tuples (=) Lists (@) Classes (/) quadrats

Which of the following does not allow to name the various parts of a multi-item
object?

(A) Tuples (B) Lists (C) Classes (D) quadrats

IbS QMESHW BT Fewewr @ewsGdbseTed L (HGL 9| V) & Fon_Lq- W
2_mILUISTT &6 sTeueuTm) He»LpLiLBE&n g ?

(1) Public e_myiifarisser (=) Protected o_mlifesriser

(®)) Secured o_miileriser (=) Private o_mjlidesriser

The members that are accessible from within the class and are also available to its
sub-classes is called

(A) Public members (B) Protected members

(C) Secured members (D) Private members

Cuiflw senflgalwsoreri Abu Ja'far Mohammed ibn-i Musa al Khowarizmi-sir
2_(HOUTE UTTHENG 6TeUUTNI Y WYPHBLILBHE MG ?
() Flowchart (<) Flow (@) Algorithm () Syntax

The word comes from the name of a Persian mathematician Abu Ja'far Mohammed
iIbn-i Musa al Khowarizmi is called?

(A) Flowchart (B) Flow (C) Algorithm (D) Syntax

Ulstaumie  eThs SUwm LSS TesT BITeLsafls)  GUILLDTHET auPRIGMUSDS
LweTUBSS UGBS M7

() # (21) & (@) @ () $
Which of the following character is used to give comments in Python Program?
(A) # (B) & C) @ (D) $
Ulsiteu meusTeummisiT 6181 jump Apliysd QFmed oysve?

() pass (4) continue (@) skip () break
Which of the following is not a jump keyword?

(A) pass (B) continue (C) skip (D) break
Ulesreu meuseupmysir 615 QlFsvgy)mLileT susna oysbev?

(1) Copemauiiu@d Qewgmy (2) sreTenwey CFwgmL
(@) Fipliys Qsrs QFwe)mLy () Blemev Few Glawisymy
Which of the following is not an argument type?

(A) Required arguments (B) Default arguments

(C) Keyword arguments (D) Fixed length arguments
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10.

11.

12.

13.

LNesreumid Blredlssr Qeustluf(® ersiresr?
str1="COMPUTER"
print(str1[::2])
(=) ER (=) CO (@) OPTR (%) CMUE
What will be the output of the following snippet?
str1="COMPUTER"
print(str1[::2])
(A) ER (B) CO (C) OPTR (D) CMUE

£Cy Qar@ss0UL_Herer List-60 sthsemerr o miliLseT 2 _sremer?
MyList=[78,91,34,[32,61,85],65]

() 3 (=2p) 4 (@) 3 (/) 7

How many elements are in the list given below?
MyList=[78,91,34,[32,61,85],65]

(A) 3 (B) 4 (C)5 (D) 7
Nesraumid 61 @)6rd @ Mlaiiiy sflwrerg?

() class class_name () class class_name<>

(@) class class_name: (/) class class_name] ]
Which of the following class declaration is correct?

(A) class class_name (B) class class_name<>

(C) class class_name: (D) class class_name[ ]
STeydbsHmbHe m tuple .................. 6T6dT HMYPSHHLILI(HSIMS

() o Lsuswent () suflens (@) usydbanm () yeold
A tuple is also known as .......... In database.

(A) table (B) row (C) attribute (D) field
QuT®BbSTS PeiTenn G5 H6IS M)

() CREATE (<) UPDATE (@) ALTER () DROP
Pick odd one:

(A) CREATE (B) UPDATE (C) ALTER (D) DROP
__name__ eT5em&rs Qs TenT(HeTeng)?

(o) C++ Gamiy GCuw (o) Mmain( ) Cuuwi

(@) swugsrer Gariiyl Gluwi (D) OS module Gl

What does __name__ contains?

(A) C++ filename (B) main( ) name

(C) Python filename (D) OS module name
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.l-

14.

15.

gCs M NTEHEEREE el welss.  eflerT  srer
alewL_wefl &g ey L.

Answer any six questions. Question No. 24 is compulsory.

16.

7.

18.

19.

20.

21.

22.

23.

24.

UlesTeu(Hid 678 (LpSETEMLD By L suemenT sTevT IMY&HSLILBSIMG?
(<) sqlite_master (.9;) sql_master (@) main_master (=) master_main
Which of the following is called the master table?

(A) sqlite_master (B) sql_master (C) main_master (D) master_main

autl uenrLIL D YVevg ufl allersslILL S5aus0%emer TS M) WP LILI(HILD

76y Lstefl safler GsTLeny Gpi CaTi 160 (3)ememnriiLigesr epsud ST (Hdmg.
(®)) ePluuTssTae (=) ysirerfssir

(@) sulLmigsin () Gam®H 6T

In Line Chart or Line Graph displays information as a series of data points
called

(A) Markers (B) Points (C) Dots (D) Lines

u@# - |l / PART — ||

245 &L Lmwwrs

6x2=12

WUSSTeTL LweTUGHSSULBD LLBoum QFwHESHE6T WTene?
What are the different operators that can be used in Python?

WUSSTeTeT S HUUTL B o Disener UL 1gwedH)s.
List the control structures in Python.

ST SSTCT YWY G 0F WHan Mleb 1 LILmL BlUBSENEIT 6THTMTE) 6TEHTENT ?
What is base condition in recursive function?

Pip stermmev sTstTeur?

What is Pip?

MUSSTefleD 2_eTer QBT FHLIYS SralaTissT WTensy?
What are the collection data types available in Python?

FTETM)(HEUTHEHEV 6TGTMTEV 6T6HT 60T ?
What is instantiation?

Unique wpmyo Primary Key SL(bur®h Ceumyiihsss.
Differentiate Unique and Primary Key constraint.

678 0leTV6V 6TEBTM TV 6T6dT6UT?
What is Excel?

FIPDD HIMTLTHGH6D QFweLLITL 1967 QLiTgy) UG 6USHEN S5 6T(LDSIS.
Write the general format of slicing operation?
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us — Il / PART - II

JCsamd Hm alaTTésEns@ eloLwealss.  allorm  sTew 3355 SLLTWLOTS
aflemL_wefldsHa)L. 6x3=18
Answer any six questions. Question No. 33 is compulsory.

25.

26.

27.

28.

29.

30.

31.

32.

Pure wphmitb Impure Qswmhan piseer Gaumiub S5,
Differentiate Pure and Impure functions.

sOlenL_ sTETMT6L 6T6bT6T? 6768T sdleTVL PAIrS 6T6IT M) SMYPHESLILBFDSI?
What is a List? Why List can be called as Pairs?

ppseTTailw auenTblwsensvsn R(H sT(HHSHIBSTL_(HL_63T UHT WM.
Define Global scope with an example.

eireumid g hBler g miBlensy, QFwhH@GD LHHID suenTwenTuiledr GLIWenT & TesT.
|dentify the module, operator, definition name for the following
welcome.display( )

swugsTefer &5 Qewpur’_ B QFwunHGDlHeeTL umm @MY eTpSHI%.
Write a note on string formatting operators of Python.

Nesreumid tuple gPlalllienu 2 HnIGCHTSSHS.

>>> Mytuple=tuple([x**2 for x in range(2,11 2)])
Hesreumio Qeuaflufl B s pmusefler Cleuaflud® 6TEOTEIT 7
() >>> print(Mytuple[2:3])

(<) >>> print(Mytuple[3:])

(@) >>> print(Mytuple[:)

Consider the following tuple declaration:

>>> Mytuple=tuple([x**2 for x in range(2,11,2)])

What will be the output of the following print statements?
(1) >>> print(Mytuple[2:3])
(ii) >>> print(Mytuple[3:])

(i)  >>> print(Mytuple[:])

HTroydser HU_Lewwleou aileaufl.
Describe the database structure.

% OpPyeopuiler Guss CHrsms 56015 (HeUB NS TET &TTewTIH6T WTeney’?
What are the factors that measure the execution time of an algorithm?
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33.

LeiTeu(mid SHeuLBMeT gL WS QFsTaRr(®H uBeysenst ENOsT 9jig litienL ulls
@mm@auflensullsy 9FFHIb MUSHTET BIT6L PEITEMM 6T(LHHIS.

HT6YHSH6NTHS 61 GlLwir . organization.db

9L Lsusmemruilesr Gluwir  : Employee

9| L_L_6UEMEWT L6V IS 6T  Eno, EmpName, Esal, Dept
Read the following details. Based on that write a python script to display records in
descending order of Eno

Database name: organization.db
Table name: Employee

Columns in the table: Eno, EmpName, Esal, Dept

u@# - IV / PART = IV

D|MATSHF QT TS EHH S allewL_werldHseaLb. S5x5=25
Answer all the questions.

34.

35.

36.

37.

CsT@Fseafier (Modules) usirilwsvyssr wremeu?
What are the Characteristics of Modules?
(oysvsvgy / OR)
& suflenswrss Pl wennenw THSHSH1HSTL (HL 6T allard@Hs.
Explain the Bubble sort algorithm with example.

MUSSTEII6TeT HTEUD FnDMISeMeTLs UDHM] allfleurs allerd@s.
Explain briefly about jump statements in Python.

(ojsvsvgy / OR)
Uesreumid 2_sraflenenthd GlFwmhHam nisener allends@s.

() id() (=) chr() (@) round() (=)type() (2-)pow()
Explain the following built-in functions.

()id() (i) chr() ~ (iii) round() (iv) type()  (v) pow()

FIRISENET FIGNTL_TEHEHH6V LOMMILD CPSTMHTLD H|6TL|(H&YL 63T HITL_T(HHeL LD
allers & s.
Explain about slicing and slicing with stride.
(oysvevgy / OR)
m el (List)-60 2_sirer o_miliysener sTeusuTn eI @H6uTII?
How would you access elements of a list?

DBMSsir gnmisemenr allend@s.
Explain the components of DBMS.
(9svevg / OR)
srey suswrwenm Gwmyl (DDL) Qerwpur@®ssr wreneu?
What are the functions performed by DDL?
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38.

SQL-sir wglnf B sriyseverts upm) Gpliy sTipsis.
Write a note on aggregate functions of SQL.
(oysvsvg / OR)
Matplotlibsb LwsiTu® Sz LG L pyplotsaflsr sumasener aflerd @as.
Explain about the types of pyplots using in Matplotlib.

de g e de o
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